
:u 
Cll 
3 
::::> 

(Cl 

0 710 71012344 
::::> 

710 71022158 
710 71024579 07-01 
710 71037574 11-01 
710 71025307 07-01 

1KY 710 71011662 04-01 
!KY 710 71033844 10-01 
IKY 710 71030931 09-01 
IKY 710 71009754 03-01 
IKY 710 71027691 08-[)1 
IKY 710 71002416 12-00 
IKY 710 71007402 02-01 
IKY 710 71014308 04-01 

m li(y 710 71011188 04-01 
re·· )lo KY 710 71020889 06-01 

;:a 1
KY 710 71003398 01-[)1 m r·· 

710 71007915 03-01 m KY 
I·-;:a J<Y 710 71008533 03-[)1 

115.Y 710 71002843 03-[)1 
;:a '-'KY 710 71015570 05-01 m 
3: tiS.Y 710 71010326 03-01 

Cl LKY 710 71023027 07-01 

0 1KY 710 71025924 08-[)1 

C') 1KY 710 71031134 09-[)1 
en 1KY 710 71001540 12-DO m 1KY 710 71033969 10-[)1 0 
0 !KY 710 71005948 01-[)1 
0 IKY 710 71005119 01-01 CD 

~ 
IO IKY 710 71004842 01-01 
OI .... 

0 
0 
0 
0 
()) 
()) 
00 
w 

WAY. 
BOLT STICK! NG. 

BACK. 
SCOPE. 
ASSY PIN. 
STAY IN BOLT. 
BOLT BODY. 
LOCKED IN BOLT. 
LOCKED IN FIRING POSITION 

FIRING PIN. 
FUCNTION TESTED & CHECKED OVER 
FUNCTION TESTED OK. 
INSTALLED NEW BOLT BODY WITH N.S. 
KNOCKED BURR OFF BOLT HEAD. 
KNOCKED BURR OFF BOLT HEAD. 
i:)i[w~LTBODY 
~@frdMEJi:!JALKED WITH TODD P 

: !¥'LISHEdt!~AMBS1\lf;~[} UPDATED. 
·'''''''''HECOCKED'l:lOL T At<lffTESIED. 
\{ REINSTAd:iiP RIGttfBACKtlR~ND TESTED. 

' Vi\ REMO)ll;;!'.j:i;i\JR~dif\PM BOLT HEAD.llii!<!P TESTED. 

M5 REPLACED BOLT BODY. 
WOULD NOT HOLD FIRING PIN IN. REPLACED BOLT BODY. 
M5 REPLACED BOLT HANDLE 
MS REPLACED BOLT HANDLE 
M5 REPLACED BOLT HANDLE. 
M5 REPLACED BOLT HANDLE. 
M5 REPLACED BOLT HANDLE. 

REPLACED BOLT HEAD 
BOLT HEAD HAD BURRS ON IT. REPLACED BOLT HEAD 

CLOSE. REPLACED BOLT HEAD 
BOLT HEAD MISSING FROM SOLT. REPLACED BOLT HEAD. 

UPDATE. 

BOLT STOP 
BOLT STOP. 
BAD BOLT STOP. 

REPLACED BOLT SHROUD AND UPDATED. 
REPLACED BOLT STOP & ADJUSTED BOLT STOP CLIP. 
REPLACED BOLT STOP. 
REPLACED BOLT STOP. 
REPLACED BOLT STOP. 

m 
)lo 
;:a 
m 
m 
;:a 

;:a 
m 
3: 
Cl 
0 

21012'-$18:-00,- --11150713· -err- -
21012i--$140o'-----,ii24o:i~- r---
21 od-$14:"00 +----- -:i""i5osso-!-t 
21072~- _$1B~ _ _::___~Q_493~ 
21072'-'·-· $14.001-----___1_1_1240:J:~--+----
21072,_J14.Q9+---.--.h!?'.1040._aw __ _ 
21072L_!!_±~ ___ _.±!_1_505~0 .... _ .. L._ .• 

210721_i;1.4c_OO-i---- _11.t1_?Q489 __ _l __ 

210721 $24.001 11150730 
210721 $14.001 11124029 
210721 $14.001 11150718 
210721 $14.001 71150498 
210721 71150527 
210721 11150723 
210721 41150752 

71150528 
71150642 

71124016 
71150514 

210721 $14.001 41150454 
210721 $14.001 31150732 
210721 $14.0QI 11150574 


